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Part 1: O30 s 5
MULTIPLE CHOICE QUESTIONS Sl LA Baaxia Abis
Circle the letter corresponding to the dapsaall LY ey Js 3000
correct answer.

Question 1 1 J) sl
What is the quotient? ¢ danall 2L L
420 + 6 = 420+ 6 =
A 7
B 70
C 700
D 7,000
Question 2 2 J) )
25 oranges are shared equally B &) s sbutlly A 5 25 a0
into 5 groups. How many oranges G SYE ) axe L Sle gane
will each group get? fhe sene S lgle Jiani
A 4
B 5
C 6
D 7
6.6 (Uai
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Question 3 3 J) el
What is the quotient? fhanal) =i L
Jall 4l dendl) ol 53 padiul
Use the partial quotients to solve.
4840 4= _____ 4840 ~4=___

A 1,100

B 1,210

C 1,200

D 1,220
Question 4 4 J) sl

are there?

There are 91 students in the
school chorus. The chorus

conductor puts 7 students in each
row. How many rows of students

e oS Caa JS 4 3la 7 48 8l 28

A 10
B 11
C 12
D 13
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Question

5

5

Ol

There are 125 chairs to putin
rows. Each row can have 20
chairs. How many rows are
needed for all chairs?

et Cisien Lo J L S 125 225
20 oS L €20 e Ciua S 5 5iny ¢
¢ ol ) asan] a3 i il

A 6
B 7
C 8
D 9
Question 6 J) sl

Which fraction is equivalent to %?

¢ 3 A< A sl L
. :

AR
2
B | |2
- [
SRNE
- [HISNIRT
D | |2
s I
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Question Jadl
Which fraction is equivalent to b e 33 g sall Adalill (A 5 Le
the point on the number line? falacy)
<+ : ! I o >
O 1
A 3
4
B 8
10
C 10
16
D 2
3
Question | 8 8 J) puall
Decompose % into a sum of 5 DS 58 gana % Sl<a
fractions.
A 2 N 2 N 2 N 2 N 2
8 8 8 8 8
B 2 N 3 N 1 N 1 N 1
8 8 8 8 8
C 1 N 3 N 1 N 2 N 1
8 8 8 8 8
D 2 N 3 N 1 N 4 N 2
8 8 8 8 8
6.6 (Ui
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Question |9

9

Ol

What is the sum? Use a fracti
model to solve the equation.

on dﬂyﬁ\cdﬂem\?&j@\ﬁu

RAREIA|

5 2 3
2ttt =
A 7
12
B 8
12
C 10
12
D 10
24
Question | 10 10 J) sl
What is the missing value? 52 58dal) dadll L
1 N 2 3
5 5 i
A 2
B 5
C 10
D 20
o.od&ﬂ'
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Question |11 11 J) sl
What is the difference? ¢ aodll L
9 2 i
12 12 i
A 7
12
B 7
24
C 5
12
D 11
12
Question | 12 12 J) sl
What fraction is equivalent to ¢ 23 A sl L
227
4
A 7
4
B 9
4
C 10
4
D 11
4
6.6 U
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Question

13

13

Ol

Use the fraction circles to find

the sum 1é + 1E
6 6

=4 13
6 6

2024-2023

A
2 —
6
B 1
33—
6
C 2
33—
6
D 3
33—
6
Question |14 14 J) sl
What fraction is taken away? ¢ oalagini a3 (5l sl Lo
4 i1
5 i 5
A 1
5
B 2
5
C 3
5
D 5
5
6.6 (ki
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Question |15 15 J) sl

What is the difference? ¢aLdl L
Al Jal 5l 3 e a2kl
Use the fraction model to solve

the equation.

21 13—
6 6
A 3
6
B 4
6
C 2
1_
6
D
1_
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Part 2: S ¢ 3l
Show all your work when answering these ASS 2 5L @l jiall luadill Jall &f glad AU iy
questions.
Question |16 16 J) sl
How can you estimate a range fandll il (g0 i SliSay aS

for the quotient? e JlelaY SYalad) i)

Write equations to show your
work.

------------------------------------------------------------------------------------

------------------------------------------------------------------------------------

------------------------------------------------------------------------------------

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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Question |17 17 gl
a) Compare these fractions A el dpulall ) gusll andil
using benchmark numbers.
3 4
4

b) Compare these fractions
by generating an equivalent
fraction with like
humerators or like
denominators.

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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Question |18 18 J) sl
A restaurant has $609 to buy 13V el 2l )Y 53 609 4l padas
cups. If each box of cups costs S Y52 9 @l SV Gl 8 s (S

¢ oyl il anbaall (S Sl el 2ac Lo

$9, how many boxes can the £ i Juall (e oS

restaurant purchase? How much
money will be left over?

------------------------------------------------------------------------------------

------------------------------------------------------------------------------------

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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Question |19 19 J) el

To make a recipe, Ayesha uses z 55 472 M-'Lc A ddia )l ]
) oW ) el sle sS4/ 5y
cup of oil, and - cup of water. Ganis o

How much liquid does she use?

Question |20 20 J gl

. 3 : . Ty s 3 .
Jon mixes 1- cups of strawberries uxs aa A gl Al e i eS 1 Lo i,

with some blueberries in bowl. There e 9\353 3i aag sle g u-°' gl

1 o

are BZcups of fruit in the bowl. How e gill ol ST 238 oS sle gl u3 FITR
many cups of blueberries are in the ¢ ole gl A 33 sall

bowl?

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

oooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo
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Answer Guidelines

Part 1: Multiple Choice Questions
4 marks per question
4y
Answer
B

= 0O w U » ®wW o O » » W O W @

6.6 3
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Jgwdd) 33 )
Item
Question 1

Question 2

Question 3
Question 4
Question 5
Question6
Question 7
Question 8
Question 9
Question 10
Questionl1
Question 12
Question 13
Question 14

Question 15
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Part 2: Free Response Questions
Marks Allocated Per Question

sy sl o
Answer Item
522 -7 =? Question 16

10 MARKS

490(2 marks) ~ 7 = 70 (2 marks)
522 +7 =7
560 (2 marks) =7 = 80(2 marks)

The range is between 70 (2 marks)to 80 (2 marks)

4 Question 17
7 > 1 (2 marks), 8 MARKS
3
7 is close to the benchmark 1 (1 mark),

2 is close to benchmarkz (1 mark).

3X3
4 x 3

9
=17 (2 marks)

9>(2 k)4
12 marslz
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Part 2: Free Response Questions
Marks Allocated Per Question

Ly Jigadl o
Answer Item
Question 18
609 6 MARKS
540 - (9 X 60)
(2marks) 69
63 =06Ox7)

6

609 +~9 = 67R6 (2marks)
67 boxs of cups; $6 left over (2 marks)
Question 19

, . 8 MARKS
2 (2 marks) + (2 marks) 7 (2 marks)
3
= cup (2 marks)
1 3 uestion 20
3 7 (2 marks) — (2 marks) 1 Z (2 marks) % MARKS

2
=1 7 cups (2 marks)
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